Beziehung CIELAB (L*, a*, b*) und adaptiertes (alCIELAB ( C*gp o L*)

System: GGB0_HRS16_96_D65_00% Q0 ~(L+ — L* ) / (Lryy -L*

CIELAB-Bunttonwinkel:
hap ¢=[32, 100, 145, 206, 265, 348]
hap,ax=[38, 96, 151, 236, 305.\?81&—
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

System: GGB0_HRS16_96_D65_00% Gl ~(1+ — L) / (Lryy -L*

CIELAB-Bunttonwinkel:
hap =[32, 100, 145, 206, 265, 348]
Pap, 138, 96, 151, 236, 305, 354)
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: GG80_HRS16_96_D65_25%_Q0, ~(L+ — L* ) / (L*yy -L* )

L, FaE Aty P [atw —aty]
D2 br=bt —by = i [y I‘/Zb*N]

CIELAB-Bunttonwinkel:

hap =[32, 100, 145, 206, 265, 348] e [y

hap ¢,=[52, 109, 172, 253, 317, 365) Crap el aty +b*5]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: GG80_HRS16_96_D65_25% QL ~(L+ — L* ) / (L*yy -L* )

L, FaE Aty P [atw —aty]
D2 br=bt —by = i [y I‘/Zb*N]

CIELAB-Bunttonwinkel:
hap =[32, 100, 145, 206, 265, 348] e [y
hap ¢,=[52, 109, 172, 253, 317, 365] Crap el aty +b*5]

a*5=Cap,a C0S hy
b*3=C*ap,aSin hap
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: GG80_HRS16_96_D65_50%_Q9, ~(L+ — L* ) / (L*yy -L* )

L, FaE Aty P [atw —aty]
D2 br=bt —by = i [y I‘/Zb*N]

CIELAB-Bunttonwinkel:
hap =[32, 100, 145, 206, 265, 348] e [y
hap ¢,=[67, 123, 193, 270, 329, 376) Crap el aty +b*5]

a*5=Cap,a C0S hy
b*3=C*ap,aSin hap
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: GG80_HRS16_96_D65_50%_Ql_ ~(L+ —L* ) / (L*yy -L* )

L, FaE Aty P [atw —aty]
D2 br=bt —by = i [y I‘/Zb*N]

CIELAB-Bunttonwinkel:
hap =[32, 100, 145, 206, 265, 348] e [y
hap ¢,=[67, 123, 193, 270, 329, 370} Crap el aty +b*5]

a*5=Cap,a C0S hy
b*3=C*ap,aSin hap
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: GG80_HRS16_96_D65_75%_Q0, ~(L+ — L* ) / (L*yy -L* )

L, FaE Aty P [atw —aty]
D2 br=bt —by = i [y I‘/Zb*N]

CIELAB-Bunttonwinkel:

hap =[32, 100, 145, 206, 265, 348] e [y

hap ¢,=[81, 137, 214, 287, 341, 387) Crap el aty +b*5]
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a*5=Cap,a C0S hy
b*3=C*ap,aSin hap
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: GG80_HRS16_96_D65_75%_Ql_ ~(L+ — L* ) / (L*yy -L* )

L, FaE Aty P [atw —aty]
D2 br=bt —by = i [y I‘/Zb*N]

CIELAB-Bunttonwinkel:
hap =[32, 100, 145, 206, 265, 348] e [y
hap ¢,=[81, 137, 214, 287, 341, 38] Crap el aty +b*5]

a*5=Cap,a C0S hy
b*3=C*ap,aSin hap
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